THT(2025) £ REBE [HEFHER]

48 58 6 A 78 8 A 9A 108 118 128 18 28 3A
1% 1| ARlE 1% 1g| || im0\ |k )| | 18 al 1 %8 1E 1E
BRI
o|k| #AEPDFYY | 2| 2|m 2|k 2|+ 2 |x 2 % i 2| % 2|l 2| A 2|;
4342 4 9 13 2 1
3| Ass 3|+ R ZH 3|x 3| 3lm 3 |k 3le 3| FHIEE 3|k 3|+ 3| 3|k
9 13 3 7 1
1P 4lm e e alk 1P 4|8 4|k 4|z 4|k alx 4lE alk alk
9 13 7 1
ZE3ymA =
5|+ 5|5 5|k 5|1+|  EEEEgm 5|x 5|2 5 || 5|k 5|l& 5|7 5| 5|%
A5 475 9 7 1
E 6| % R&HKE 6|2 sla| =z=zmm 6|7k 6|+ 6|m 6|& 6|+ 6| % ola| zzzzmm 6|2
}T 475 9 3 1
Iz 7|k 71+ 1|lg| EEXRETHE 7|% 7lm 7| s 7|| 7|k 11+|  zs=zmm 71+
1 }T 475 }T 4714 3 1
8|k 8| 8|m gln| EFXRETME 8l& 8 |m 8 [k 8|+ 8|8 8|x sla| =z=zme 8|m
1 }T 475 }7 4714 3 12
9|k S 9|5 o| k| EFXETMME 9|+ 9| 9 |k E 9| % S o|lg| zz=z=mm 9|7
1 45 475 10 35 4714 3 12 15
FET BEPEBX -
10| 10|+ 10] % 10| N 10|k 10|& 108 107k 10|+ A 1o|x| zzmmmm | o]k
1 10 47 4714 4 8 = AEEREE O WER w;
BEETHIRM W e R AL
1|e e 1|k 1|e Al e WoH 1% 1|+ 1] 1% 11 RS 1 | [
1 10 45 4714 8 12
12|+ 12|1A 6 12({K 10 12|+ 2T 12|k 12(& 12|18 12(7K 8 12(& 19 12|1B BADA 12| KR KX ZEEHM 12(K
= RK—YOR B e
13|18 13( K 6 13(& 10 13|8 2T 13(7K 13| 13| A 13[K 8 13| 13| [BREREEZH (M2‘|)5 13|%& KX ZEEHM 13(&
14|A 9 14(7k 6 14| 14| A EERTHM 14(K 14|18 14|k A 14(& 8 14|18 14{7k 15 14| KX ZEEHM 14|
= WESERX
15| 15|% 15|@ 15|g| (EEREME | gle 15|8 ®E0R 15|k 15|+ 15| B |msesmama muwy o2, 03] 15| 5| EEREEM |5 eeeta
2 6 4 13 15 |
FRHEERHED W1, D1) = = =
16]7 | 1o[® [pmmasmRima o | 1|5 | e EERTHM | g1 16| 16| A 16 % | o[ BITUBXEREE | 6)n| =zs=aem ||
17| 17| 17(k 17(K EERTHM 17|18 17 (K 17|& 171 17{k& 17| HEBEBTA B 17|k KX ZEEHM 17(x
2 1 35475 9 13
18|& 9 18|H 18(7k 1 18(& EERTHM 18| A 18K 18| 18k 9 18(K 13 18|80 HETRA K 18|k KX ZEEHM 18(7k
19(£ 1912 19K 19|+ EFREHM 19k 19(%& 19|82 19(7K 19(& 19|18 19({K KX ZEEHM 19(K
7 1 9 13 15
20(@ 20|k 20(& 20(@ 20{7k 20|+ RMsiEaA 20(8 20|k 20(+ 20{x ZEREHME 20|& 2 EZREHM 20|& E5H0H
1 11 }T° 475 9
21| A 21| 21|+ 215 ROH 21|k 21|@ 21| 2|2 21| 21|k PEL-T alt|  zz==mm 21|+
3 1 15 }T° 475 9
22| % 2| 2|m 22| % 2| 2|8 22|k 2|+ 2|g |BERERXEERR 03) | )| zzzmmm wla|  zs=zmm  |2|e
3 1 15 }T° 475 }T 4714
REREH
BHOHE o man o
23|k 2|e 2|8 23|k 23|+ 23|k 23| ula|l  wEemos |2 ule| zzzzmm 8|8  xzsmgm  |23|8
3 1 12 15 }T° 475 }T 4714 - ’
) wEKE EIFWX N = N
24|% 2|+ 24| % 24|% 24|m 24|k u|2 2|8 24 ult| BeEEE M) |24|x| zs=zmm ||k
3 12 15 6 10 15 4714 OB (2)
5le 25| | 25|k 5le 2|8 25| 25|+ 25| % 25|% slal  nas® 0 25| 25|%
3 12 15 10 }T 4714
26|+ 2|7 26|% 26|+ 26| 2% e 26|k 26|& 26|p| =M B memmn | 26 26|%
8 12 10 JT 4714
FREERS W7, 01,02)
27la 27|x o7l MEE 27|k 27|+ 2708 o 271 o 7[E| MEFumxRRsES | 2| E0a-mE AR | 2|0 21|
2|8 o2 o| 2l 28| g | e 2 mat- mawana | 2% 28|m 28| % o2 MEL 28| k| =M Bt mEmmm | 28]+ 2|+
29[ % RHOR o2 o[ 20|k | 258 -mat e | 20| 2 29|58 29 |5k o| 2 29/ A 20|k| m8-8-E®- BB 29|
30| o0 o| |7 (| S| -t o+ 30|k 30| o8 30| % w0|e| w1 B wEmE 2|7
3|t|  smmma 202 31|k| -2 - mat- masmnn | 318 3|2 31 31|+ 31|k
ARE - ERORA T A4 FIEEAE EEMR R 8 B WA




THT1(2025) FE HEFHRE BLIAHREMN FHTEPER

B B (EH) TELRE R MERAFT1—)L (BR) &
28 (k) ~4B (&) BEREHH
48 2H () 18:30 %ﬁ)kii.;r VI T—2ar @y ST DRI - P T — <
38 (K) Azt
58 (1) REDY
s 168 (2) FRZ st EE IR Y] s EE HEF—<DEMDRE
318 () HREHERES sek AEH
68
7A BEQTS A
" gﬁ] 0)% & l=“ £
88 . A iw B3k : RE12HY)
9)51 ==
108
118
128 278 (4) HrxEe Sek MAY
1A (RRERLDONE - 1278)
28 A% : RE2E Y]
38
g | 2AU0~IE@ BESEME
48 (2) REDE
168 (&) R &S FRER RO RL Y PR ESHRERRE ]
58 (BRI OUE - 135)
318 (1) PRERES R AAN >R >
68
18
8A A% - REEHY]
98 e
108
118 - BMAEOER
128 . {%i?ﬁx‘o‘)ﬂ%ﬁi
138 () HUANBRRAEEERE Y FURXBATRERR | CamAnOf
s 168 (&) BrERXEERERYY XEEH A NEER
24E (1) BUnEs BRHB (D) sek A
258 () B (D)
28 e KRLREMELEHT (BRI Ol XEBEH A NERR
38 158 (B) spiREE R




SF17(2025) £ HEFHRE FLERHEE O) ERTEFER
R A B (EAR) TEhE t7dusky| MERTPa1—L (BR) e
28 0K) ~48 (2)  |BEREHE
'8 28 () 18:30 HFAEL I oTF—3 3> ()
38 (R) AZR
58 (1) REDE
5n 168 (&) HRAHEE 1RHHY) HREHEE NN
318 (1) MEHERRE FRAEH ) Eﬁ%w%ﬁ‘@
68
DI '3
88 BX : LE1S#H
9A #a
108
118
128 278 (£) HREES ERRAAR
18 WX DB
2R A% : RE2SHY)
38
A 28 0K) ~48 (2)  |BEREHE
48 (&) REDE
5A 168 (&) PRXRSMEEER REHY TRRREHEEEE
318 (£) PRIERS ERRAAR
68
18
D2 8H o O A% : REISHY
9H F=
108
118
128 278 (£) RREES ERRAAR
18
2R A% : RE2EHY)
38
A 28 0K) ~48 (2)  |BEREHE
28 (k) REDE O
58
68
18
8H Ak : REISHY
9A - P
D3 108 HTRXORE
18 CRREEHOER
158 (A) BEHREERE IR BEHRERRE R ——
128 28 (A) BEE  |[BLPHAXEERERY XBIEH 1 RERR RIS E)
278 (£) BEREERS EERAR N
18 108 (). 1A(B) |RERR (Od) BRI OEE
2R ) AFREMEMAX BRI ORE BiEH 1 FERR
38 158 (B) FlRBE R




